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T'Iw- liu‘gEr the physical size of a rHlstumhe hlghl'.r'ﬂu pnmr

E}tctrui}"tm capacitors are pnhmud. you must obserye their po

Ifa system has a time constant of one second, its step. rt&pﬂm&wiﬂfﬂ.tﬂh
approximately 2 seconds.

The main idea of bridge circuits is to provide an output voltage with umﬂmﬁ:ﬂ. &
- 3. Adummy gauge is used to compensate for temperature effccts. i

L~ 6. The use of current, rather than voltage, in data transmission is hetter for noise mﬂ

¥. 7. A gain of 60 dB means that the amplitude of the output will be 60 times that of the [n‘p“nt.’
% 8. Atsteady state, the output of a linear time-invariant system fed by a sinusoidal m]]lxlml'l
have the same amplitude as the input,

.~ 9. Active filters can be designed with gains other than unity.

¥ 10.In AC measurement with DMM, the reading is the average of the signal.

}i 11. Clamp meters can be used to measure sm all currents in the range of mill-amperes.
~12. The higher is the bandw idth of an oscilloscope the smaller is the rise time of the wl.u

which can be displayed using this oscilloscope.

}-{: 13. If a Lissajous figure is a straight line with positiv
If the phase difference between two sinusoids is constant d

L 14,
conclude that they have the same frequency.

Questmn 2 (6 Marks)

yarics from 25 to 3 KL} as a varia
that provides an output vo
awer dissipation in t

bic changes oM Cus l.ll.‘l :—;-;: ,Dﬁir
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¢-slope, then the phﬂ'ﬂ_&iﬂmnmk*lﬁg;{.

uring successive cycles, we can -




